NHTEPCK{IN

KP3-42/1400M

894 .**.**'**.**

KYCTOPE3 SJIEKTPUUECKAS]

JleiictBurenen c:| 20.05.2024

KaraJjor 3anmacHBIX yacreii

ApPTHKYJ HaumeHoBaHHe AeTaau J:ze};:e XapakTepucTHKa Kou-Bo mr./u3a.
00.02.04.04.11 Bont M6*45 1-1 M6*45 1IMHKOBOE TIOKPBITHE 1
894.00.00.11.02  iPykosiTka nepeaHsis 1-2 PP 799 1
894.00.00.11.03  T'aiika GapamkoBas 1-3 PAG+GF30 1
894.00.00.11.04  iKpoHmITeliH KpemIeHns epeaHel PYKOSITKI 1-4 PP 229 1
894.00.00.11.05 |Brynka HampaBisromas IpHBOJHOTO Basla 1-5 $23.5 3
894.00.00.11.06  :IIpuBoaHOIi Baj (BepXHsIS 4aCTh) 1-6 YM420,7.9*626 1
894.00.00.11.07  iMydra mTaHry coeeHUTENbHAS ATIOMUHUEBAs 1-7 SF7A225,Q235 amomuHuit 1
894.00.00.11.08  iBoxt GaparukoBblit 1-8 SF7A218,PA66+30GF,021C,15.8g 1
00.02.04.01.47 Bunat M6*25 1-9 M6*25 1
00.02.04.01.14 Bunt M5*%12 1-10 M5*12 1
894.00.00.11.11  :iIllTaHra BepXHsis IOJIOBHHA 1-11 25*23*650 1
893.00.00.01.17  iXamyr 1-12 1
893.00.00.01.79 Kounb1io dukcupyroiee 1-13 PA6+GF30 1
893.00.00.01.15  iBuHT ¢ HMIMHAPHIECKOI TOIOBKON C BHYTPEHHUM ILIECTUTPAHHUK! 1-14 M5x20 1
894.00.00.11.51  ixieMMHas KOJOAKa 1-15 1
894.00.00.11.16  |Briximroyarens 1-16 250V 10A 1
893.00.00.01.05 IIpyxuHa Kypka 1-17 65Mn 1
894.00.00.11.18  :KxaBuiua BbIKIIOYATENS 1-18 iABS 1
894.00.00.11.19  iKpplmka 3JeKTpOABUraTeIs 1-19 ABS 1
894.00.00.11.20  {Konzaeucarop 1-20  {0.22uF 1
00.02.04.01.28 Bunt M4x16 1-21  14*16 10
00.02.04.01.09 Bunt M3x8 1-22  i3*8
894.00.00.11.23  Haxuagka gexopaTUBHAs IpaBast 1-23  1ABS
00.02.04.01.34 Bunt M3x14 1-24  13*14
893.00.00.01.29  :Konrpraiika 1-25 M8
894.00.00.11.26  iKpsuibuaTka 1-26 PAB-GF30
894.00.00.11.27  {Hanpassroniast IeTKH 1-27
00.02.04.01.40 Bunt M3x10 1-28  13*10
894.00.00.21.90  :Illerka asexTpuyecka (KOMIUIEKT) 1-29 SF7A225,6.7*11.7
893.00.00.01.32 Kpbimika gBuratess 3aHsst 1-30 PA6+GF30, oruecroiikuii

2

1

2

1

1

2

2

2

1
00.01.01.01.23 PagnansHeii mapukonoamumHUK 608 1-31 608,00 1
894.00.00.11.32  iPortop 1-32 1200W, ¢43x35mm 1
893.00.00.01.38  :Kabens coeuHUTETBHBIH 1 1-33 60 MM 2
00.02.01.01.04 Taiika ycuieHHas IeCTUTPaHHasT 1-34 M4 2
00.01.26.10.08 PajiuanbHbIH MapUKOTIOIIUITHAK 1-35 16000,00 1
894.00.00.11.36  iCratop 1-36 1200W, ¢72x35mm 1
893.00.00.01.43  iKpplmka aBUraTesns neperHss 1-37 PAB6+GF30 1
00.02.04.01.56 Bunat M4x60 1-38 M4*60 2
894.00.00.11.39  iBai BBIXOIHOM 1-39  1SF7A225,40Cr 1
894.00.00.11.40 KonbIro cromoproe 1-40 ¢ 24,65Mn 1
00.01.01.01.43 TToammmank 1-41 609,00 2
893.00.00.01.47  {CromopHOe KONBIIO Basia 1-42 199 1
894.00.00.11.43  iKpsmuka pegykTopa 1-43  {ADC-12,30g 1
00.02.04.01.27 BuHT camoHape3aomunii 1-44 4x14 4
893.00.00.01.50 iBrynka coenuHUTENBHAS 1-45  iBHyTpeHHHE ceMb 3yObeB 1
893.00.00.01.51 CromopHoe KOJbI0 1-46 | YrmepomucTast Mpy>XHHHAS CTalb 2
894.00.00.11.47  iPeruar cronopHsIit 1-47  1ABS 1
893.00.00.01.07 i TIpyxuHa KHOIIKY aHTHOIOKHPOBKH 1-48 1
894.00.00.11.49  iKabenb 25IeKTPONUTAHHS 1-49 2x0.75mm2 1
893.00.00.01.55  Kembpux 1-50 {BX 1
894.00.00.11.51  ixyeMMHas KOJOJKa 1-51 1
891.00.00.01.26 IInactuna U1 3a)KUMa IPOBOJOB 1-52 PA6+30GF 1
00.02.04.01.27 BuHT camoHape3aromuii 1-53 14x14 4
894.00.00.11.54 Haknanka nexopatuBHas jneBast 1-54 ABS 1
894.00.00.11.55 :Kopimyc 2meKTpogBHUraTesns 1-55 1ABS 1
894.00.00.11.56  ibnok miaByHOro Iycka 1-56 7TA214 1
894.00.00.11.57  |BnoK 3aIUTHI OT IEPErPY3KH 1-57 1
894.00.00.12.01  iPexyxTop B cbope 2-1 1
00.02.04.01.17 Bunt M5x25 2-2 1
894.00.00.11.05 iBrynka Hanmpasisfromas IpHBOJHOTO Basla 2-3 023.5 4




894.00.00.12.04  iKpermieHne HOXa OTCEKAIOTO JIEKY 2-4 1
00.02.01.01.05 Taiika M5 2-5 2
894.00.00.12.06 Hox oTcexaromuii iecky 2-6 65Mn 1
894.00.00.12.07  {3ammTHBII KOXKYX 2-7 PP 1
00.02.03.01.29 Bunt 5x16 2-8 2
894.00.00.12.09  iCkoba KperieHHs 3alUTHOrO KOXKyXa 2-9 Q235 1
00.02.03.01.29 Bunt 5x16 2-10 2
894.00.00.12.11  i3akuenka 2-11 1
894.00.00.11.11  :IllTanra BepXHss IOJIOBHUHA 2-12 25*23*650 1
894.00.00.12.13  illltudt 2-13 SF7A204 1
894.00.00.12.14 3akienka 2-14 ¢ 4*8 ueprkaseromas cTab 1
893.00.00.01.51 CTOmnopHoOe KOJIbLO 2-15  !VYruepoaucras NpyXHHHAsI CTANlb 1
894.00.00.12.16 Brynka coequHUTENbHAS IIJIULIEBOTO Bajla 2-16 40Cr 1
894.00.00.12.17  iIIpuBOAHOI BaJ (HIKHSS 4acTh) 2-17  140Cr 1
893.00.00.01.66  {IllecturpaHHBIil TOPIEBOH KII0Y 2-18 4 1
893.00.00.01.94  iJIamka 2-19 1
894.00.00.12.20  iKirou KOMOMHUPOBaHHBIH 2-20 1
894.00.00.12.21  i{Konma4ok TpaHCIIOTHPOBOYHBII 2-21  ipesuna 1
894.00.00.12.22  iKocuiibHast roIoBKa 2-22 1
894.00.00.12.23  :KocuibHbIil HOX 2-23 3-X JICTIECTKOBBIN 1

HUHTEPCKO.I




NHTEPCK{ON

Pa36opHnas cxema

JleiicTBuTENEH C

KP-42/1400M |  Apruyn wnems: |

894 .**.**.**.**

20.05.2024

1




